Date _. Class

{i® ==y Practice A
{‘ Arithmetic Sequences

Determine if the sequence is arithmetic. Write yes or no.

1. 5,9,14,20,... 2. 10, 22, 34, 46, ...

No -~ Yes
] % + L—J
A
Find the ggr_n_mg_n__@ﬁgm_ng_e for each arithmetic sequence

8. 12 15.18 81 = ™ - 430241 2

J,.,d=3‘.-dj‘ﬁ-ud=f@'

Find the common dlfference for each arithmetic sequence. Then find .
the next three terms.

5. 20,10, 0, —10 .d__|[) | 6. 100,98,96,.94,..; 0= -
® 90,3040 9, % 88

Find the indicated term of each arithmetic sequence. a2 r-Zs
- 7. 42nd term: a, = 10; d = s 8. 27th term: 59456/%3/?50
aqh\m—mg»—mc o Qm = 5a%(27-NER)

Q!-ra"'g‘S(ol _ - . QAo =~\C\,

A swim pass costs $30 for the first month. Each month after that, the
cost is $20 per month. Riley wants to swim for 12 months.

9. The sequence for this situation is arithmetic. What i i the

firs of this $equence? - ; 30
St of tis Soqenge? | |

10. ‘What is the common dif \er—\ﬁﬁé;'\qf‘%q", P ! &Q e ,
11_ The 12th term will be the amount Riley spends fora - O‘“,"‘ 30 "\"(—“"\

one year swim pass. Write the equation for finding the . - ' —//"*_—/_j
total cost of a one year swim pass: ' - :\‘ Qr\ = 80n "4" 10

'12. What | is the total amount of money Riley will spend for

a one year, swim pass? L On=20n+I0 . B ‘;50 .
@ N 2 0,-20l0
i, _ ‘ 5 Q*Z‘f' ‘ZSO
gﬁﬂgﬂ%‘ggﬁﬁ“ Rinehart and Winston. - L 43
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) Skills Practice
| Arithmetic Sequences

Determme whether each sequence is an arithmetic sequence. If it 1s, state the .
common difference. :

14,7912 .. NO  2.15,13,11,9, d=’3
~5-:9§} . d , I -3 |
. 8.7,10,13, 16, .90 A=3 4. 6,5, -3 -1,.. MO
Y TR :
« i ¥ ) J—'—- : d. _g.
5.-5, =3, =L 1, .40 d=2, 6. -9, —12, —15, —18, .4~ -
42 A | % ok B

Find the next three terms of each arithmetic sequence.

7.3,7,11,15,..19,23,2) 8. 22, 20, 18, 16, ..}4, (%10
'd—% | | a—-z
9.-13, —11, -9, -7, ..=5,"3, ) 10. -2, 55, -8, —11, .7 [, =17, =20
A=% . : A -3 : |
11. 19, 24, 29, 34, ...39, 4%, 49 : 12. 16, 7, —2, —11,...-'90,—9% 38
0‘:5 ; al‘- _q ‘ :
Find the nth term of each arith1‘netic sequence described.
18.0,=6,d=3,n=12 Q239 - = lda,=-2,d=bn=11 An>4€
Oz = G+ (1Z~-1N2 Q. =2 m: NS
15.a, = 10,d = —3,n = 15 qm.gz_. 16.a, = -3,d=-3,n=22 Og=-blp
a:s =lo+ (S~ )("‘3) ' Qez = '34—('22—&){; }
17.0;, =24,d = 8;n = 25 (Qggz D.I(g 18.a, = 8d~—6n—14 OH--—‘TO
ng__..Z\H (‘2‘5—459’ 5 tgyuq-ll(ﬂbﬂ
19.8, 13, 18, 23, ... for n = 17 ,,,ggr 20. —10, —3,4, 11, ... for n = 12 a‘z—_tﬂ
Q=84 {’,\1-3)5 , Q-0+ (lz t‘r(
21.12, 10, 8, 6, . forn—lﬁa = -|¥ 22,12,7,2,-8,...forn =25 a - -|0&
w
Oue=2¥ Clb-lx_)-‘) : _ Q |2+ LZS"J(’S) -

Write an equation for the nth term of each arithmetic’ sequence Then graph the
: first five terms of the sequence. ) . -
o oonyUlH3|41 s '
Ot?f’f [13 Z19,125 \ 3§ | 24. 30, 26, 22, 18, "H . 25.-7, -4, 1,2, 5 )

a, a, a,
a0} ; 130} 2

-y

g ] ' | fool | 1 e

—10 i —10

Y

0246n o [ 214 [6n T #

7+(r\—\\t"\ = =1 )[H) clthql-_ﬂa—(rx-hf@
O bor) (Gt [an="2010)
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